
NON-THERMOSTATIC ONLY

MM1020

MM288
MM1233

MM205

MM1139

MM4649-01

MM1325-3 MM1325-2

MM1021

10-9000-1390NY-CPE

10-9000-1140NY-CPE

MM2451-02

MM2451-01

MM1136-10

MM1136-10

MM1136-02

HF6X1.0-16A

MM1163-10

HF6X1.0-16A

HF8X1.25-16B

HF8X1.25-16B

MM230

THERMOSTATIC ONLY

BILL OF MATERIALS
PART NUMBER DESCRIPTION QUANTITY

MM230 19 ROW OIL 
COOLER 1

10-900-1390NY-CPE OIL LINE 1 1
10-900-1140NY-CPE OIL LINE 2 1

MM2451-01 BRACKET 1 1
MM2451-02 BRACKET 2 1
MM1263-04 WEATHER 

STRIPPING 70mm

MM1021 10AN BANJO 
BOLTS 2

MM1163-02 M8X1.25 
LOCKING NUT 1

MM1163-10 M6X1.0 
LOCKING NUT 6

HF8X1.25-16B M8X1.25 16MM 
BOLT 2

HF6X1.0-16A M6X1.0 16MM 
BOLT 7

MM4649-01 COOLANT 
BYPASS HOSE 1

MM1325-2 12-20MM WORM 
GEAR CLAMP 1

MM1325-3 16-25MM WORM 
GEAR CLAMP 1

MM1233
M20 SANDWICH 

PLATE 
ADAPTER

1

MM1139 SANDWICH 
PLATE SPACER 1

MM205

FRONT 
MOUNTED 

THERMOSTATIC 
OIL SANDWICH 

PLATE

1

MM288
SANDWICH 

PLATE 
ADAPTER

1

MM1020 M20 THREAD 
ADAPTER 1


	Sheet1
	Drawing View1


